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In the figure, CB and CD are opposite rays, CE bisects ZDCF,
and CG bisects £LIFCB.

CD If m/DCE = 4x + 15 and mZECF = 6x — 5, find mZDCE. i

3, The diagram shows a sign used
to warn drivers of a school zone or crossing. Measure and
classify each numbered angle.
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For Exercises 4~ 17 use the figure at the right.

@ ) Name two acute vertical angles.
e Bkl
e FlE
5) Name a linear pair.
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@,_ Name two acute adjacent angles.
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@ Name an angle supplementary to ZFKG,
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_ 6, -t . ERE
%.. Find x so that TR 1 TS
if mZRTS = 8x + 18.
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@ Find mZPTQ if TR L TS
and mZPTQ = m/RTQ — 18.
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Find the distance between each pair of points.

}) Y(-6, 0), P(2, 6)

JO

@‘ Find the coordinates of the midpoint of a segment having

the given endpoints.

Q A3, 1), B(5,3)
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In H ,L) refer t

3 Name a right angle
® S les @/

Q (4, 9), U(7, 5)
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o the figure at the right.

@ Name a point in the interior of ZEBC.
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@ What is the angle bisec
E

tor %f ZEBC?

@ Find the surface area and volume of each solid.
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Make a conjecture about the next number in the pattern.

D B

-6, -3,0,3,6
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@ Refer to the figure at the right.
a) Name all planes that are parallel to plane ABC.

E F
Plan F bl WY
[D Name all segments that are parall allel to FG. i - Ja
e fAD, EH
@ 4 d D C

@\a In the figure, m/5 = 100, Find the measure of each angle,

@‘ Determine the slope of the line that contains the given points.
@) F(=6,2), M(7,9) @ Z(1, 10), L(5, ~3) I3
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@ Determine whether EF and PQ are parallel; perpendicular, or
neither. £(0, 4), F(2, 3), P(-3, 5), Q(1, 3)
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@ Write an equation in slope-intercept form of the line that
contains (—4, —2) and (-1, 7).
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@)Given the following information, determine which lines,
if any, are parallel. State the postulate or theorem that
justifies your answer.

@) s1= /15
£/
b) 29= L1

o |

@ Draw the segment that represents -
NB.

the distance from m to
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@ Find x and the measure of each side of the triangle.
AABC is equilateral with AB = 3x — 15, BC = 2x —

andCA = x + 7. 0N
Gea=x estt <iﬁﬁ

@) ADEF is isosceles, £D is the vertex angle, DE = x + 5, .
DF = 5x — 7 and EF = 2x — 1. DE =
- ¥y ' pE & §
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.ﬁq Find the measure of each angle.
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@ Find the measure of each angle without
using a protractor.

& <oc L b) anc
c) LACF 18 G- dl) EAB

@) Complete each congruence statement if ATSR = AWVU.

QJRE £ VA l)_g{i?fa—ntw (;),{SE YAV

32) In quadrilateral RSTU, RS = TS and SU S
“ bisects ZRST. Name the postulate that
could be used to prove ARSU = ATSU.

ShS

Z2.! In quadrilateral PQRS, QR||SP and PQ||RS.

Name the postulate that could be used to prove
APQR = ARSP.

Refer to the figure Po r %ue%ﬁow & 3“! - 35’

@; What kind of triangle is AQRS?

35, Name the legs of AQRS. Q
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é;i) Name the vertex ang_lE"(“)Vti"éQIjS. o

@ Name the base angles of AQRS.
P

‘3? \AABF is equilateral, and AE | CF.
¥ Find each measure.

&) mecEn|Teo | b) méBFC@
C) mZABF| {5 Cg)mm@;&éﬂ ?

A _ 40

1’ t etermine whether the given measures can be the lengths of a
triangle. Write yes or no.

D) 567 b 6,810

_Angles of Polygons

/_{ , Give the measure of an interior angle and the measure of an
¥ exterior angle of each polygon.

a) equilateral triangle e

%' fegular hexagon {26 , e . l

C) Find the sum of the measures of the interior angles of a convex 20-gon.

Determine whether there is enough given information to
know that each figure is a parallelogram. If so, state the

definition or theorem that justifies youjzonclusion.
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Find mZ1, mZ2, and m43 in the rectangle shown.

P .yz 25 28"

28"

C \ Find the missing coordmates in the figure. Then wmte the

coordinates of the four vertices of the quadmlateral Y
3%;;} R O Ua.n) ¥
Refer to quadrilateral EFGH.
@ ; Find the slope of each side. | ;3: 4 Gj
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@ ~ ADVERTISEM ENT A poster measures 10 inches by 14 inches,
- If it is enlarged to have a width of 60 inches, how tall will the

new poster be?
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\ Determme whether each pair of figures is similar. If éo, wmt
the appropriate similarity statement.
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@ If AHIJ ~ AMK, find x and the scale factor of AHIJ to AMKJ.

20 K

SHADOWS A tree casts a 60 foot shadow. At the same time,
a 6-foot tall man casts a shadow that is 2 feet long. How tall

is the tree?
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